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INSTRUCTIONS
1. This question paper should be opened only after receiving the instruction from the examination hall invigilator.
2. This question paper contains 80 questions in Part A (General Knowledge) and 60 questions in Part B (Psychology).
3. Answer all the questions.
4. Each correct answer has half a mark.
5. Write the Enrolment No. and S1. No. of the OMR answer sheet at the appropriate place in the front page of the question paper.
6. The of question booklet series and the correct answers to the questions (A, B, C or D) should be shaded in the relevant circles
using blue or black ball point pen. The answer sheet without shading the type of question booklet series will not be evaluated.
7. For each question only one answer is to be chosen and shaded.
8. For wrong, multiple and improper shading in answer sheets, no marks will be given for that answer.
9. Ifthere is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of the invigilator
immediately and a new question paper should be obtained before the commencement of written examination.
10. All the questions are bilingual except language questions (English & Tamil).
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PART - A : General Knowledge

1. At what temperature will the Celsius and the Fahrenheit values be equal ?

(A) +40° (B) +100° (©) 0° - (D) —40°

a5 QeutiuBlenevuileh CFv@wev Syerayth LITIGTANL . eTayLb FLOLDNSE @@«5&@&) 2

(A) +40° (B) +100° (C) 0° (D) —40°

i - 5

2. Dr. Verghese Kurein is the Father of Revolution. !il'e#g

(A) White Revolution (B) Green Revolution

(C) Blue Revolution (D) Red Revolution

(pewaTeurt auiGen @&Muwes eTeiTLIT Lo Sl Sheng 1T ewLpssL

@S .

(A) Qeuesaniors Lyg" & (B) usewols yo &

(C) Bovd yo" & (D) eyl ym ' &

3. Where is Manas Biosphere Reserve is located ?

(A) Assam (B) Meghalaya
(C) West Bengal (D) Himachal Pradesh
wetnav 2 uisGsmens STLILISGLD 6THIG IeMLOBSIGTTS ?
(A) yevewmb (B) Guosmevwir
(C) Guwpe eumisLb (D) @urése L9gCsFLD

4. became the first European power to establish trade link with India.
(A) Portuguese (B) French
(C) Danes (D) Dutch
@BSwreyL_cT euenils 2 peney Blyailw wpsed @Grminw pr g6
(A) Cunigz@Pwii (B) L9Qg@psHEmIT Hg{@
(C) Cralagmi (D) Léassnpir

5. World AIDS Day is observed on
(A) October —2 (B) December — 1
(C) January — 26 (D) June -5
2 @& eI’ oV Flaib HyeFMNGHLILIGILD BreiT
(A) H$Cmuir—2 (B) 1gatbui — 1
(C) ggewraul —26 (D) gg®air -5
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Statement I : Lapse rate is the decrease of Temperature at the rate of 6.5°C for every
1000 meters of ascent.
Statement II : Jet streams are the fast moving winds blowing in a narrow zone in the

upper atmosphere. Eﬂg@
(A) I only correct (B) II only correct Bt
(C) Iand II correct (D) Iand II wrong

Statement I : QauliLGapay 1B aepred @aGleunes 1000 S it 2 wISBDHELD
6.5°C e1airp 0985880 GlouliLflarew GenpuLb.

Statement II : euefoaim_wg@eir 2 wir JBEGSMD GUIW LGS sais) Cousons
BE@GLD STHYSET “ClgL STHHSET e16T&H CpLb.

(A) I @b &M (B) II o @b &M
(C) I wpgyih 11 &A (D) I wpmibd Il geumy

Statement I : A Town Panchayat has about 10,000 population. It is between a village and
a city.

Statement II : Those areas which have a population of more than one lakh and high amount
of revenue and is found in the level below the City Municipal Corporation

is called a Municipality.
(A) I only correct (B) II only correct
(C) I and II correct (D) Iand II wrong

undg@uib 1 : wmi 10 guigd Guir ampdsmgw sagrs @wpsrer Cuepym &)
eTarIL@LD. @& FSISSDHGL, DITLSFDPGLD @)eoL LI L geri.
wrs@wib 11 : wipsr’ As@ ABSs Hovtld, @ VL FSHSGLD HBSwrar
waser QsmesuL_cr, aumauml HBsD QBSGLD 20migseT FEITLE)
ereurLILI(p)Lh. %ﬂ
(A) 1 oL-@b &M (B) 1I " @b & Bl
©) I oppub 11 & (D) I wopaud I saugy

In which district of Tamil Nadu, G. Nammalvar a supporter and expert of organic farming
founded Vaanagam ?

(A) Karur (B) Salem

(C) Namakkal (D) Tirunelveli

Qupes Geuernaisenouilest YPSTTGTT LOPYILD CIGHSBITET Gsm. pLbompeunt
TeISLd ST JyenioLifenes SLOPHTL 196h 1l Flpyedermi 2

(A) semt (B) Gsevrd

(C) prodsed (D) @B0B»CGeual
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Countries where Tamil is an official language are

(A) Pakistan and Nepal (B) Canada, Malaysia

(C) Mauritius, Seychelles (D) Singapore, Sri Lanka

SO Iyapaued Gomflurs 2 erar prBEET ) 2 SLD.
(A) un@evsesr, GrLnerb (B) serm, wGa@wmr -

(C) Quomflaflwaev, GlFagsven (D) @misLiys, @evEiens p@%@ﬁ
Colour of the sun appears red at Sunrise and Sunset because of

(A) Mie Scattering (B) Rayleigh’s Scattering

(C) Raman Scattering " (D) Tyndall Scattering

@Mw 2 swib pmitb enpailer Cung @&Mwes Hairiuns ST Pwefés &myewrd
(A) B-gafld@smed (B) pmGa gafléfsmed

(C) @umoeir afld&gsped (D) g.ewr_meb aflFFSm6L

Which layer of the atmosphere protect us from falling meteors ?

(A) Exosphere (B) Thermosphere

(C) Mesosphere (D) Stratosphere
NesrQouafudedmig aluph alanspsaledlmbs! HLoeoL LTGISTSEGLD ABES o151 ?
(A) Qeualw®ES (B) QauiLiy®s& ]
©C) QL w®sS (D) uedLw®BsG E%?ﬁ
Which of the following is not a condition for becoming the citizen of India ?

(A) Birth ' (B) Descent

(C) Acquiring property (D) Naturalization

Bipdsemmauseie s @iy @BSW Gyufaw Clupib aflipeop e ?
(A) wiSesr epevid (B) outbam euiflufleir epevid
(C) QemsgiNerd Quuyeuser apavtd (D) @uicby GLyujilento epevLd

Statement I : Acid rain is caused due to the presence of Sulphur dioxides and oxides of
Nitrogen in the atmosphere.
Statement IT : Acid rain is helpful for the growth of marine life.

(A) Statement I is correct (B) Statement II is correct

(C) Statement I and II are correct (D) Statement I and II are incorrect

ENOTTA . gyflevivenip euel e wEH6 2 6rer FLIT L YSaF(®H LLHHILD
O BL_IReNeT 2 SFHSeTTey 2 (FaUTHDSI.

apmr 1T L sL6v Bif oump 2 uleiiser aenidRsG ywwep 2 56|FD.

(A) Fmpmy 1 & (B) gapmy 1T &M

(C) spmi 1 wpmid 11 &M (D) gapmy 1 oppyed 11 saumi
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14. Statement I : 44" Chess Olympiad games held at Mamallapuram near Chennai

during 2022. B
Statement IT : Chess Olympiad games are conducted once in 4 years. %%
(A) I only correct (B) II only correct
(C) I and II correct (D) Iand II wrong

aungs@uwib 1 : 44 eugy Qaev gaSlbwn’ Gumigser ClFarenarenw 2BSS
oL IsHe 2022 b UL Lb B OLppS.
aung@ud I1: Qsov @alblIun 4 yaTBH&E5SS RGP FL &G CUTLIgunGLb.

(A) I o @b & (B) II " ®ib &l
(©) 1 opmued 11 &M (D) I wpoud II saumy
15. In which district is Pulangunichi Inscription found ?
(A) Virudhunagar (B) Tuticorin
(C) Tirunelveli (D) Sivagangai
LerhigHlEs setla’ B s@T60LB)S$SLILIL L el L LD 615 ?
(A) oSlpgiIBHT (B) gnssisy
(C) 8mrBHGaucd (D) Sousmians
16. Which is the capital of Ukraine ?
(A) Moscow (B) Kiev
(C) St. Petersburg (D) Lviv
2 S esl|e S@GBHILD 615 ?
(A) wmevGasir (B) &eu
(C) Queuilesr’ LF 1 rrelv Liid (D) aSladles
17. Fuse is a strip of alloy wire which is made up of
(A) Antimony and tin (B) Lead and tin
(C) Platinum and lead (D) Copper and iron
1061 2 (58 6165 2 Cawnsd sevencuuileTrey swrhésLiLGE DS
(A) gy,etorig Loewf] opmyid S (B) Qeueirafwid opmitb Hmfuih
(C) Werm”_gemid oPpmid Geverafwd (D) smblyb wpmid @)BLbL
18. What is the expansion of RT-PCR ? E@é@
(A) Real Time — Polymerase Chain Reaction Bt
(B) Reverse Transcription — Polymerase Chain Reaction #
(C) Reverse Transcription — Positive Chain Reaction

(D) Reverse Transcription — Polymerase Covid Reaction

RT-PCR @)6ir aflfleundsib ereiiasm ?

(A) Awed eoL_tb — LmeSoGrav ClFuller Muwirdayss

(B) Meurev 1y grarev@fliayer — umelwCGreav Gleuller Mwndapes
(C) Meurov ygrereav@Mliayer — Lm@ig.er Cleuller Mwrdayeir

(D) Meure 1ggrerev@Miiayesr — uradlwGrav Caraill Muwiréayesr
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19. ‘Vyomamitra’ a lady robot — related to
(A) Gaganyaan Mission (B) Mangalyaan Mission
(C) Chandrayaan Mission (D) PSLV - C46 Mission
‘aQGumoLhgom erehggiid Qe CorGur eTs@IL6i QST L WSl ?
(A) ssenwmret L _Lb (B) wmisamwmesr S 1 b
(C) sB@ymuer S L tb (D) 9.é1av.6760.a9. — & 46 11D
20. Statement I : Three systems of revenue collection had been introduced by the British.
Statement II : ‘Ryot’ means cultivator. glé?
(A) T only correct (B) I only correct Gided
(C) Iand II correct (D) Iand II wrong
uns@wih 1 : 9@ CewisenTey ppeTnl UEHSIITET QUG QIE6 (LD
_ P PpSLILBSSIUL L GI. ,
eurs@wib 11 : qug ereirpred afeusmud) ereirgy GLmBET.
(A) I w @b &M (B) Il o (b &1
(C) I opayed I &M (D) I wopuib 11 eumy
21. India’s Gaganyaan Mission is related to
(A) Human Space Flight Programme
(B) Artificial Rain Scheme
(C) Scheme on Rain Water Harvesting
(D) Scheme on Electric Vehicles '
@B wnaller sEETLNGT ay6T ISEIL 6T CISTL /L WS ?
(A) wafls aflawtleual LweSHL L b
(B) Gewpens wenp S b E&%
(C) waripBir GeaMiiy S L tb S
(D) hes&ny aunseumis @hdsmes S L_Lb
22. Match the following :
i) Rani Rampal a) Weight lifting
ii) Mithali Raj b) Running
iii) Hima Das I ¢) Cricket
iv) Mirabai Chanu d) Hockey
(A)c, d, a b (B)a, b, c d (Cyd c,.a, b MD)d, c, b, a
Leireupeuareupeny QLTSS :
i) gmewf] gmbLimeh a) LEBGISHSSD
ii) Blgmael) grgh b) @@
iil) adlom rev c) @MatlEL
iv) Wlgmumds Fngy d) apré
(A)c,d, a, b (B)a, b, c,d C)dyc,a b (D) d, c, b, a
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24.

25.

26.

T

Which one is required to produce acceleration of a body ?

(A) Velocity (B) Force

(C) Density (D) Displacement
Spsamapmer Cun@elH@ B é53Dma THUBSSIMS 6131 ?
(A) BeansGousLd ' (B) ailews ?égl
(C) 155 (D) @LUQuuis® g

Which Article provides the Constitutional Remedies to the citizens at the Supreme Court ?
(A) Article-21 (B) Article-32 (C) Article-15 (D) Article-18

2 45 BHOHIDSDET ppevLh GLYLOSEEEP JYTF@LOLIL] FLL LIMETILD CunIusDS
s 2 miiy auflaians CFUSDE ? .
(A) g2l (B) 2-myiiny-32 (©) egiiny-15 (D) 2 pyiiy-18

Statement I : Vegetables and fruits are appealing because of their bright and variable
colours which are due to pigments present in the plastids of plant cells.

Statement I1 : Chlorophyll is the green pigment of leafy vegetables.

(A) I only correct (B) II only correct

(C) I and II correct (D) Iand II wrong

ams@un I : sraugé Qedvseler saflsnsaligider Bplsermey, &miismplser
LoPMILh LILPEISET SaiTenantd saibLb LIgsTewneT L ails Bprisefeh

ST FweldFeTner.
auna@uwip 11 : @GerrGmesL9eh eregyd Bpih) sMiISHEEEE LS®F BpS®S
NS EDSI. Eﬁ;@
(A) 1 @b & (B) 11 i (b & :
(©) 1 wpmyid 1T &M (D) 1 woppbd 11 saumi
Match the following :
a) India 1) Dollar
b) Australia 2) Rupee
c) Malaysia 3) Riyal
d) Saudi Arabia 4) Ringgit
(A)3,2,1, 4 B)2, 1,43 (E)( 1, 128 1| || || (D) 4 [3] 25|
QuTBS5I5
a) @BFwm 1) Lmevr
b) v Cradilwm 2) emLimdi
c) wlav@wm 3) Awmed
d) soys HCrlwmr 4) M@

A)3,2,1,4 B)2, 1,43 ©1,234 @{M4321




27. Statement I : Since snakes do not have legs, they use their muscles and scales to move. :

Statement II : Movement of snake is called gliding. E@?
(A) I only correct (B) II only correct GRS
(C) Iand II correct (D) Iand II wrong

aund@wih I : umbL&EpdE STOEET FOL_WNG). FSTUSHG MU FEISGTS SFHET

wpmih CleBevsaments LWTLI(HSS B DT
aundg@wib 1L : umbLy psieug LSS 2aise eraaLiLi(BLb.

(A) b @b &M (B) II o (b &M
(©) I wopgyed 1T &l (D) I wpmb 11 seumy

28. Match the following :

(National Parks) (States)
I) Gir a) Gujarat
II) Ranthambore b) Rajasthan
III) Sanjay Gandhi ¢) Maharashtra
IV) Corbet d) Uttarakhand
I II 11 1Iv
(AJa b © d
B)a & © b EEE
Clel d g b P@%
e a b 4
CumrmSSIs :
(CaPw ymism) (LomBlevLb)
D @i 2) Geuns
I) pBsbCumt b) prgevgmer
) sesews sMHH C) LOEAITaNLYTT
IV) sriludc d) 2 gzpsmevm
I II III IV
(AR & g | d
B)a d ¢ b
Cec d a b
MD)ec a b d

A




29.. Which of the following is an dielectric ?
(A) Silver
(B) Copper
(..l ©abm
(D) Iron
BipssaT_aupnier LISTCITL L S5 HL_S515 Qe 611 ?
(A) Qavaraf i
(B) smAib S5
(C) sassremmiy E!%
D) @aroy

30. Select the correct answer.
(A) Rajya Sabha — 300 members
(B) Tamil Nadu Legislature — 120 members
(C) Lok Sabha — 545 members
(D) Pondicherry Legislature — 100 members

sflwner el amws Csik0ls®).

(A) wrlevnisarenas— 300 2 pyileriser

(B) s8ps &L L_oasprb — 120 2 pylifeuiser
(C) wésaremeu — 545 2 pinlesiser

(D) wnedsig &BsM L _ociipib — 100 2 myLifeigser

31. Which battle was laid the foundation of the Mughal Empire ?
(A) Battle of Khanwa
(B) Battle of Chanderi gﬁ
(C) First battle of Panipat
(D) Second battle of Panipat

@pPwnailed wewmu Cuirs: GpHUL Qs Gumi 615 ?
(A) smesteur Guimi

(B) a5CsM Gumi

(C) wpsemb el Gumi

(D) @uads_mb uneiii’ Gumi




32. How many years tenure of the Village Panchayats ?
(A) Ten years (B) Five years
(C) Six years (D) Two years
&g LEHFTWSSISeNGT LSNESTLD 6188 amaeT 24T (HHET ?
(A) uss yFTH ST (B) 2551 @GS
©) oy yaTBS6T (D) @uesn® gy evarBSeT

33. During the muscle fatigue which acid is accumulated in the muscles ?
(A) Citric acid (B) Acetic acid
(C) Hydrochloric acid (D) Lactic acid

sass Gamiailer Gungy a1z gblevid smesalss Cosgn@pg) ?

(A) &M gybevib (B) o9 1y s devib
(C) ewaw’ CumgBennfé yidevih (D) evndiysd yibevid

34. Amnesty International is an organisation which campaigns for
(A) Protection of animals from cruelty

(B) Protection of historic monuments

4
(C) Protection of human rights Eiesdt
(D) Protection of environment

IyLbGlaraviy @)ein_Grayearey eTaTenILd JYELOLIL) GTHHETSE Sggsnpid CFiag ?
(A) Bps ams 5@

(B) eaurevnppy Pevrewmiseflesr ungsmiy

(C) waflg 2 Menivser LngsTIL

(D) spmy Grped ungismiLy

35. During the reign of the Buddhist Monk Fahien from China visited to India.
(A) Chandragupta —1 (B) Samudragupta
(C) Chandragupta — II (D) Kumaragupta —1I
wrGeLw YU 8é s1wssed Fammeneud Gaips Cusss gpal LTEwmsr
@BFwralln @ aupsmi 2
(A) epseomb spByGLISH (B) swsBELsT
(C) @uedwr_mb sHS LIS (D) wpsevmb @omp@lisi
36. Which is the largest oil field in India ?
(A) Ankleshwar oil field _
(B) Aliabet oil field ':T:',w'?
(C) Gujarat coast oil field =
(D) Mumbeai High oil field

QuHwralled BsiQOUML Qu Crrelw ereimGlenis auwe 615 ?
(A) ymEECavaveurt eTada@essTi auwich

(B) eSlwmGuL. erevnQlewsis euuwich

©C) ogIs sL_pseay aawblentis auwe

(D) wptbevs ewam eradTGlewsTi euwich
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Name the upward force exerted by water on a floating or partially submerged body.
(A) Viscous force (B) Frictional force

(C) Buoyant force (D) Gravitational force
Bss@ b Sevevg LTBwerey Ble app@uilBaELd Cumpelsr Lbg Brmeig ALV EEA
GuaGrreSw alensuiler Cluwit eTcTes ? - 55'159
(A) un®wed allens (B) ogmiiey aflensF B
(©) gLy allens (D) yeluiitiy allens
Match the following :

1) Shiv Nadar a) Pepsi Co.

2) Narayan Moorthy b) HCL

3) Azim Premji c¢) Infosys

4) Indira Nooyi d) Wipro
(A) b, c, a, d (B)b, ¢, d, a
(C)c, b, a, d (D) d, a, b, ¢
Leireumeuaraupenn CLITBSSIS :

1) afléys pm_mi a) GluLI& GupLoLb

2) pAgmUGST eSS b) HCL

3) yghlb LIByLbgl) ¢) @aGunan

4) @p&ar mrud d) a9iGom
(A)b, c, a d (B)b, c, d, a
(C)c, b, a d (D)d, a, b, c

The Commander-in-Chief of the Defence Forces is
(A) The Defence Minister l

deat ot o B
(B) The President of India iy
(C) The Prime Minister
(D) None of the above

LINGISMLIL LenL_SeleT Samevenio HYBsmh wmri 2
(A) ungSTUIL] HYEOLOEFFTT

(B) QW Gwrsd semealt

(C) QosLor

(D) Gupsear_ e1giajb (B)eveane
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Match the following :

I) Green Carbon a) Carbon stored in Industrialized forests

IT) Grey Carbon b) Carbon stored in atmosphere and ocean
III) Blue Carbon c¢) Carbon stored in fossil fuel
IV) Brown Carbon d) Carbon stored in biosphere

I II I v e
etk P T %%

(BYa b = d
<4 A M- FHORY « MR-

e Y T < N
AMGEETER
) usenws smiuet a) Csmfled MPwns 2 HeunssLiBL s1hsefled Cobldas LD
STITLIGH '

II) embried st  b) euafloer_evib wPpib sL_safle CFLAGSLILIBLD STiLIcH
) fev smiei ¢) Glgmevayulili Lgar e1MCuIper CFASSLILIBLD HAFLIGT
IV) uwpiiy smiuer  d) 2 uisCsnangSled CHdldsLi@Lb S

I II I 1v
Ajd & b =B

(B}a bl g | d
L N S -

(D)a b 4 ¢
Statement I: NITI Aayog

(a) Is a Think-Tank.
(b) It replaced Planning Commission of India.

Statement II : (c) Is headed by the President of India.
(d) It has established in 2020.

(A) I only correct (B) II only correct

(C) I and II correct (D) Iand IT wrong

aurs@uib L : 55 9 Cund ;@ﬁ
=

(@) Qa1 Fpser GuaTELb.

(b) @BSwreler Hi L Guaild@ LB TS 2 BUTSSLILIL L g/
ams@uib I1 : (c) F9 9 Curs&ler semaat Gy wrss Saeal.

d) P18 Curs&emer Biemruidsi L @ 2020.
(A) I @ & (B) 11 w1 @b &M
(©) I opmyid 11 &M (D) I wppub 1T seauny
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For which product Nachiarkoil has received GI tag ?
(A) Mat (B) Coconut (C) Kuthuvilakku (D) Bronze icons
prs@wmt Casmalled e1ps 2 PUSHL QuTBEss@ el ri GPUIE CuppieTaTs ?
(A) wmd (B) Gsrismii (©) gsgalarég (D) Oeuanaswd Hanev

waves used for cellular phones to transmit voice communication in UHF (Ultra
High Frequency) band.
(A) Radio waves (B) Micro waves
(C) Betarays (D) Sound waves
B2 wit B Qeuass L ewL_sefled QFwebLIBL »SLICLGAUTD G SHau)
Qg m_me» e LWETLUBHE DS -
(A) Gy Cur yemavsaer (B) ewoaGym Hyamevsar %@
(C) S i s@iser (D) @6 Jyemevaseir
What is virtual water ?

(A) Water hidden in clouds

(B) Water available below the surface of the earth which is not easily accessible
(C) Water that can be ordered online

(D) Water consumed in the production process of an Agricultural/Industrial product

wenpBit GTIDI6Y 6T6HTaT ?

(A) Guanisaileh eapBSHSSGLD Bif

(B) wié@ Igulled @Bs@GLd B, paned erafiBleh FlanL_ssng

(C) wepsery @enemmueufluns Clupupy b

(D) wenppit ereirgy afleusmuLd yevevg Gsmfpsrame 2 pusGuller Cung BHISTLILIGILD
Bir weopBit 61w IyedPESLILIBS DS

Which of the following exhibit both living and non-living characters ?

(A) Bacteria (B) Virus

(C) Fungi (D) Protozoa

SpsamL_cupplev 6181 2 ull@eirer LPpIb 2 Wopp LT ST CleueliLBSSISDSI
(A) undefwmr (B) emeugav EEE
(C) Yesoms (D) yCGun CLnGsmeur %%
Who discovered Blood Group ?

(A) Louis Pasteur (B) Banting

(C) Holst (D) Landsteiner

@ués sl L sau@Lgsseut wrt ?

(A) il Lmevrg wiv (B) Guetrigm

(C) Gapmeveivr (D) GavesrLav6) ufG)pi
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Statement I : The combined forces of the Deccan Sultanates defeated Vijayanagar in
1565 AD (CE) at the Battle of Talikota.

Statement II : The Vijayanagar empire then shifted their capital further eventually to

Chandragiri.
(A) I only correct (B) II only correct
(C) Tand II correct (D) Iand II wrong

wrsGwib 1 : &.19. (Cum.g) 1565 — 6v geovawsCsm e Gurhey sdsmenr
OB THISeNGT gl HLILIL. IQUBET yTens CSTHSHIySEei.
aurd&uwid I : aflgupsgs Guors Cariels@ls 196 QmSWTs Sz Sa@BE®T
il FEPIGMESG wiHpBlug. I ggggl
(A) T @b &M (B) Il wor” @b &M Bl
(©) I opmyd 11 &M (D) I opmyib 11 Seumy

POCSO Act, 2012 gives protection to whom ?

(A) Girl child below 18 years of age

(B) Male child below 18 years of age

(C) Both Male and Girl child below 18 years of age
(D) Female above 18 years of age

CurgGsam g1 1_1b, 2012 wi®sS un‘gj&nﬂusrﬁat@'@g;. ?
(A) 18 auwgl BlobLing Cluess GLpians

(B) 18 auwgy Floibuing e Gypieans

(©) 18 quwgy Flobing gyevsr oppih QLT GBS
(D) 18 euwig) Blobiiw Clucss Gpiens

49. Phenolphthalein as an indicator which gives colour in basic solution.
(A) Green ' (B) Blue
(C) Yellow (D) Pink
e igedesr @ Bpism iy, @& $msé somysaled Qar@a@ BpLb
(A) users (B) Bovib —_—
(©) o@psar (D) @aeresPeuciy E‘%\"’#
50. Boston Tea Party in 1773, incident was related to War of Independence.
(A) Russian (B) French
(C) American (D) Chinese

1773-@ev Blapps Lmev et Gapi almig 61bs B G aBS@evLs GLimmL_cr
CSIL e

(A) paywr (B) Wpnesrev

(C) HQoMsaEm (D) e




51. Who is Malala Yousaf Zai ?
(A) A Pakistan activist for female education
(B) Beauty Queen — 2021
(C) Olympic medal winner athlete from Pakistan
(D) Pakistani Actor
LOGUITGVIT W&FLI &MUl GTGTLIGUIT WITT 2
(A) Quess saldsmen LTSevsTaflL yraeiF
(B) 2021 air 9y1p omen]
(C) @adlibLis Lsssd Ceuey LTHevgrer sLser afFit
(D) unr@evsner HLysi

52. Choose the correct option.

i) Linear motion a) Movement of a swing

ii) Circular motion b) A particle falling vertically downwards to the Earth
iii) Rotational motion ¢) Motion of satellite around the Earth

iv) V1bratory motion d) Spinning of Earth about its own axis

il il v

A b e a | d "
((Bg o A SR B E‘ﬁ
(Chb || d @&
D)je & & | b

sflwner @Qewemranwg Csip0ls®.
i) CrisGasr B Quasd a) carehFadler QussLb

i) el @uésib b) yalllener Crré& alluptd Gluinper
ili) &pHd @udsLb ) yauilewens sppib QFwPeEECST6T @)wdasLb
iv) 9@iey @QuidsLd d) densLs Qunpssl saremenssnGer FDHpib LjLb
i i i v
Abc a d Eﬁ
B d || =l el | b o
© b e | dllla
D a d &
53. Glucoseis a _
(A) Disaccharide (B) Monosaccharide
(C) Polysaccharide (D) Isoleucine
&@pECETaNv GTGTLIGI
(A) @uilewL& FigsT (B) @peps stsasanm
(C) sl (& sidsamT (D) g2CGsmrauemsst
54. The author of the book “The Monk Who Sold His Ferrari” is
(A) Shiv Khera (B) Robin Sharma
(C) Prakash Aiyar (D) Stephen Covey
“The Monk Who Sold His Ferrari” eretip LSssdas e1(pSwaeur
(A) afles Csgm (B) pmleir Fiwr -

(C) Agsmay gwit (D) evieusr Gsral




”

55.

56.

57.

58.

Find the correctly matched pair.
(A) Garlic — Anti inflammatory cures skin disease
(B) Cardamon — Cures for skin and urinary problems
(C) Red Chilli — Used to reduce blood sugar
(D) Asafoetida — Vitamin — A rich
Fhlwrer @eenrenws Cxiay ClFuis.
(A) yew®) — @ity IpnHd), Casmed alwrBew @ewrLiLIBSgLb
(B) grevgsmii — Gzmeb wpmib Fmybos Casrennpisemer M Gswiuyb
(C) Beutiy ersmis — QudssHev Fidsampuien dereneu L HLILIGSSILD
(D) Qu@shismud — o ufidssg A OGS wness) Q@é?
et

Mac Mohan line is the boundary line between

(A) India — Pakistan (B) Pakistan — Kashmir

(C) India — China (D) India — Afghanistan

“Goé Gonser Csn®” erepenpssliL@ eTvemewd Csm1® e1hs @)
Brh&e5sE QoL Guwireig)

(A) @BFwr — urevgmest (B) un®evgmesr — smauLbi

©) @bBHwr - Gew (D) @pSwunr — gyLisnedevgmer

StatementI : Karur is known as “The Textile Capital” of Tamil Nadu.
Statement II :  Tamil Nadu is the second largest software exporter in the country next to

Karnataka.
(A) I only correct (B) II only correct
(C) Iand II correct (D) Iand II wrong

unsGwid 1 : sepi “SOpBTL 1965 QpFas sew BaIL” TP PSSLILBDDS).

aung&wid 11 : 5 1g 651 QloasTOlLIn@Ber eTpmIoBUdeh SABILFM160YSE ABSS5TS SLODBIG
Q@uar_meugy Qufw apmiw® CFdiuyh wrkleons o crers).

(A) I @b & (B) II o @b &l

[E]E[s]
(©) I wpayd 11 &M (D) I wopayib 11 seumy E%g
The Headquarters of ‘BRICS’ organisation
(A) London (B) Shanghai
(C) Bombay (D) Dhaka

ifsev yenioliieT seneveniowil b doLoBGIeTar @)L Lb
(A) evavsrL_eir (B) eymmismui

(C) wtbumds (D) Lrgsm
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59. Statement I : When the car engine is started with headlights turned on, they sometimes

60.

61.

62.

become dim.

2
Statement IT : Due to the internal resistance of the car battery. it

(A) T only correct
(C) I and II correct

curgsGuwib 1

(B) 1I only correct
(D) I and II wrong

. smileb sy aflerd@ erfluyb Hevevuiled eraigdlenar @)wid@bCLngl,

wsLiy alera&er Glurnelley SPg G pujLd.
aunrs@wib 11 : smriley 2 6rer LAeTSVSH 6T YSLOGTSL 24 &LD.

(A) I @b &M
(©) I opmyb 1T &M

(B) Il @b i
(D) 1 wpmud 11 seupy

is the current increase in temperature of the Earth’s surface as well as its

atmosphere.
(A) Global warming
(C) Climate change

(B) Acid rain
(D) Environment

Bevd oppith B 2 erer_&@w h wHmih euelwedr_cvib HCLTE G MEELD

QeuLiu BlevewenrwGuws
(A) yal QeuiLwinrged
(C) smev Blenev oAHDLD

e165T& G mLb.
(B) 9yflev wemip
(D) sppiéesipad

The Oscar Awards for the best documentary was given to which among the following ?

(A) The Elephant Whispers
(C) Slumdog Millionaire

(B) Allis quiet in the Northern Front
(D) Dunkirk

ereupLd 61hs euewils LUL-SBDG “ WBovsiT allGg” auprISLILILL S| ?

(A) B eTeSQeL. aflaivLiiav
(C) evevibL.& LhleveSlwiesit

Find out the wrong pair.
I) Vedanthangal
II) Point Calimere
IIT) Mudumalai
IV) Mundanthurai
(A) I-a (B) II-b
SAUDTEST ()T FHETL_ D%,
1) Gour_bgmmbise
1) Csmywsseny
) wegioene
V) webpgieop

(A)I-a B) II-b

(B) e @ov GuwL_ @61 § BATSSGHT Ligedi
(D) Lewr&lis

[EEE

a) Chengalpet e
b) Vilupuram
c) Nilgiris
d) Tirunelveli

(C) Ml-c (D) IV-d
a) Oemsa’ (B
b) ellupLiyoib
c) Sav&i
d) 8B6BDCaue)

(C) M -c (D) IV-d

e




i
i

63. Jaisalmer wind park is located in

64.

65.

(A) Gujarat (B) Rajasthan

(C) Odisha (D) Madhya Pradesh
QlgguiFebLoT SADHI LyBEIST @)ev SyeLopGIGTTS).

(A) oI (B) @unggavgmeir

©) syayr (D) wsSwis 95CssLb

Children’s Day is celebrated on Nov. 14™ because E})g;lgl
(A) It is the birthday of Tr. Jawaharlal Nehru
(B) It is the birthday of Mahatma Gandhi

(C) It is the birthday of Tr. Subash Chandra Bose

(D) It has been declared so by UNO

Gpbmsser Haib peutbuii 14 b Cs8) Claremm_LiLBUSHSTET STTERTLD
(A) B@5. gauapiawred Crnm deuiseler pps Serb

(B) wangwnr &8 yeuisaier Lpbs Sed

(C) 8. suney 87 Curev yeuisefer pps Serd

(D) 288w prpser Fevrs @eieuny Plailsssme

Match the following :
I) Law of Constant Proportion a) Sir William Crookes
II) Cathode rays b) James Chadwick
IIT) Anode rays c¢) Joseph Proust
IV) Neutron d) Goldstein
I II I 1Iv
(A)e a 4 b EEE
Ba b e d 5%\%
b ¢ a d
()d a B @
TR
) wipr a98)s al%) a) &t aflevedlwib Gendav
Il) GGz sHiser b) Ggubev Fnails
1) o Gewrn® &iser ¢) Ggrels LiGlgeravL’
IV) By pneir d) GsmevL evieair
I I I I
(Aye . d b
(o34 28 Al - FHNRRE -
b e ||| | d
rd s ||| e
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66. The list of eligible voters is called as

(A) Electoral roll (B) Campaign roll

(C) Polling roll (D) Nomination roll

S&DwTeT QUTSSTOTTSENGT LI 19 16D I Y PESLILIHEDS-

(A) eundsmemi LI 19 W6 (B) wgliyedy UL’ 1guwied

(C) eumdsafliiy L iquwed (D) Awibetls Ll 19 w6
! 67. Match the following : tI::](égl?.l
| I) Prithviraj Chauhan a) Slave Dynasty Bag
| II) Qutub-ud-din Aibak b) Rajputs

IIT) Chengiz Khan ¢) Sayyid Dynasty
. IV) Khizr Khan d) Mongol
E I I I 1v

(AYa b e d
' B)d © b &
: (E) b &l fd||le
! @ec d a b
| QuUTpSSIS :

) 9mselgrsy Ceensnet  a) LD QULDFLD 3

1) @suSer gllud b) Q@urgusSoi |
5 M) QsriISevsmes C) FWS QULDFLD

IV) &&i snesr d) wrGsreSwii

I II 11 1v

(AJa b € d

(B) i |ellf ||| e

{Gb a 4 &

D} e |4 8|l b

68. New species originates by the gradual accumulation of favourable variations — was told by
(A) Darwin (B) Lamarck E?ﬁg!
(C) Louis Pasteur (D) Ernst Hackel S

LIGY S@@LPEDSETTS LI LILIG WS GDLIL L FTSHLOTET Geumrumpsaier
QsngLidarme UBW QPHTES 2 (GoTEFDS! TNl InSlULIcurT

(A) miadlesr (B) eumomis
(C) ayuileiy Limavig Wi (D) erigtav Glamssed
69. Which of the following mineral deficiency causes anaemia ?
(A) Todine (B) Calcium (C) Sodium (D) Iron
‘ Bpsacin eaps s1s12-L1L G@pelamed @uss Csrmse apuBSDS ?
3 (A) HCumger (B) smev&uwib (C) Gemguwib (D) @by

g g
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70. According to 2011 census which State of India has lowest literacy rate ?

(A) Uttar Pradesh

* (C) Maharashtra

2011 b oésMGsTms Sewsbs@LIST Ly @BSwraleT eibs LAFlVL G®DhS
TpSsHe) aNEFLD Clanes(BeTeTg ?

(A) 25801 199Gs&Lb

(C) wsmgrayiy g

71. The first telescope was invented by
(A) Johann Lippershey
(C) Johannes Kepler

(B) Bihar
(D) Odisha

(B) fsmit E%j
(D) pigayn

(B) Galileo
(D) Claudius Ptolemy

36T (LpSedle ClFmenaCrrasFlenw 2 (FeaunsEwaeurt
(A) Cerseir aSLigCGay
(C) Geprseiterrav GsLienm

72. Match the following :

State

I) Karnataka

II) Assam

III) Kerala

IV) Gujarat
I

| (A) d
(B) a
| ©c
r (D) b

II

(eI = W= il o}

I Iv
b a

c d
b a
a d

Qumbsgs :

Lomblevtb

'! ) sipr_sm

i II) »yavevmb

' M) Gagerm
IV) @goms

| I
| (A) d
(B) a
? (C) ¢
| D) b

II

O Qoo

I Iv
b a

c d
b a
a d

a)
b)
<)
d)

a)
b)
c)
d)

B

[

(B) #a9e80Gwm
(D) ®ermgwev smevLh

Crops
Oil seeds
Rubber
Tea
Coffee

LiuSiseir

eTeTOlenTi @ISG)5%% 6T
@i

Gaullemaev

S

73. Taxes can be used as an instrument for controlling
(A) Inflation

euifl eredTLIG)

(B) Defiation

(C) Stagflation (D) Disinflation

28 S OULGSSID SBHANET GeDTs LWGTLRSSLILGSDSI.

|
| (A) uemaddss (B) uestaum’iid (C) Gsésalssd (D) ler Liewralbsih
I
|
|
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74.

75.

76.

77.

78.

PR

Which Newspaper was started by Tilak ?

(A) Commonwheel (B) Kesari

(C) Chakaravarthini (D) Swadesamitran
Bavsgre OsTmsriLc L ugSNsesuier Cuwi Esg%
(A) smetaisy (B) Gsai

(C) gérauigS et (D) #0s#L055 g6t

Marine organisms such as Snails, Oysters Shell is made up of

(A) Calcium Carbonate (B) Calcium Chloride

(C) Calcium Sulphate (D) Calcium Oxide

Bhesser, Ariiser Gure sLceunp 2 uifemisaicr G gEs6T GTSGTTGY
2 (HeuUTESLILIBHS DS

(A) srev@uwib smiLIGeL. (B) srev®uid &Cerneng(h

(©) srev@uih FevGri’ (D) sreb@wib gy samen(h

When was the Madras State renamed as Tamil Nadu ?

(A) 1968 (B) 1971 (C) 1969 (D) 1970
wagrev wrflevd eiIGLng SOUPBTH 16T Gluwit LAPHLD QupDG ?
(A) 1968 (B) 1971 (C) 1969 (D) 1970
is called “Coagulation Vitamin”. E%%
(A) B, (B) E
©) K D) A
@ussLd 2 mpumasGb 2 ulisss5
(A) B, (B) E
© K (D) A

In which district of Tamil Nadu Indira Gandhi Wildlife Sanctuary is located ?
(A) Coimbatore (B) Erode
(C) Kancheepuram (D) Tirunelveli

SOpBT 196 QBBITETHS aTallevi@ FIETTOWLD 6ThS LTRIL L SE6
S|LDbSICTOTSH ?

(A) GsmuLbLsST (B) #Ggn®

(©) smEs@Lymib (D) Br0)BHCauad

U
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79. Match the following :
I) Vellore Revolt
IT) Kol Revolt
III) The Great Rebellion
IV) Indigo Revolt

I oI I Iv
(Ao d 4 b
(Bic & d& b
(Cd & B =
Ma b ¢c d
Qumdsis :

I) Geuguri yo" &
II) Camed Honis&
Il) Qu@phisewsLD
IV) s@hevdsmu Heriss)

I II III IV
i Kle d & b
. (Bje a d b
cid =56l s
i M)a b ¢ d

(A) Mercaptan
(B) Propane
(C) Butane
(D) Methane

LWTLRSSLILB S DS
(A) QoiGsii_eir

B) yCGunGuesr

| (C) Yy Grair

(D) 58Csgeir

a) 1831
b) 1859
c) 1806
d) 1857

5

a) 1831
b) 1859
c) 1806
d) 1857

l 80. What is the chemical used to detect any leakage in LPG cylinders ?

LPG falein_rsafled eumydsfallencns s pw ererent CouBiCLimmeir

"
2w
.n»-
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83.

85.
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PART - B : Psychology

Choose the word that can not be added after ‘Key’.

(A) hole (B) board (C) note (D) lock
Choose the right question tag for the following :-

He often slept, ?

(A) had not he (B) isn’the (C) wasn’t he (D) didn’t he

Choose the correct reported form for the following sentence.
Ram said to Rakesh, I want an ice cream”.

(A) Ram said Rakesh he wants an ice cream
(B) Ram told Rakesh that he wanted an ice cream  Best
(C) Ram said to Rakesh that he wants an ice cream

(D) Ram told to Rakesh that he wants ice cream

Choose the correct meaning of the idiom “Once In a Blue Moon”.
(A) Undefined - (B) Randomly
(C) Very rarely (D) Watching carefully

Fill in the blank with the appropriate prepositional phrase.
1 can’t accept your invitation a previous engagement.
(A) In spite of (B) In case of

(C) Owing to (D) In the event of
Choose the correct sentence.

(A) Neither Mani nor Mohan were given a trophy

(B) Neither Mani nor Mohan was given a trophy

(C) Neither Mani nor Mohan have given a trophy

(D) Mani neither nor Mohan is given a trophy

Fill in the blank.
Each of the teams given a trophy.

(A) were (B) have (C) was (D) does
Statement I : The idiom ‘Kick The Bucket’ means ‘to die’.

Statement II : The idiom ‘Bad Egg’ means ‘A Dishonest or Ill-behaved Person’.

(A) I only correct _ (B) II only correct
(C) Iand II correct (D) Iand II wrong

89. Fill with suitable form of the verb.
If Mary had an umbrella, she lend it.
(A) will (B) will be (C) would (D) would be
90. Match the following Antonyms : ;
1) Shady g A £
IT) Bored b) Sunny
III) Panic c) Slow
IV) Hasty d) Interested
I I I v :
AAb d a c
B)a b c d
xyd "' b a
D e a 4d b

[ ¥
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92.

93.
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95.

96.

97.

98.
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100.
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‘@flaibLieh oaryf) ﬁg@%&g OlFabev’
g &Csmy L’ L Qarevedlesr Qevssenid GmMILiLy
(A) IB$5s COsmit (B) @uienL_s&eral)

(C) mOsL L e@riwenp QLwGlgdsd (D) GClsmpHelLiwii

‘PHARMACIST’ — eraftigps e seamevd Gemevenavs Csip0lsHdsaLb.

(A) wopsrepst (B) wasgioui  (C) Gaiedwi (D) @b

Oeairencsruile L&Lpd&Hd Fnaipns BH@GLb LeGeauny $6valdl BlmieucEiser

Y m&Covwgned gPURSSLILIL L oau — aflevL_SCsDD aITT IjenLods.

(A) Qeareneniiesr LaspsGd Fnaipns @G LeCaugy H6vald FlmeuaTBISer wrymey
apuUBSSLILIL L eneu ?

(B) Glssranauileir Lyapdh@d Fraipnss Blp@Ld LGaip) BnIaIaThISET wrgmeh
apUBSSLILIL L_avau ?

(C) Qlastrenauiieir geoL_wrernonssd Fsuptd LvCeun seflwimi BlpeueTiISeT wrgmey
aPUBSSLILIL L aneu ?

(D) Glgeranaruileh Li&(pdGHF Freipns BH@Ld L Gaum FLow BlMIQUGTRISET WAgTey

aDURSSLILIL L _eoar ? Eg;'!:
SaupraT @)enewTenids Hes(HLILg Eice
(A) Sevar — o_paliest (B) CGuenswmi — ymleupmeui
(C) evpseui — auplwieuri (D) Gumdpmi — Quifweur
‘Gl LIQeuLiLD’ — eretieyih GlFnevenevrs L9MSE e11pss Heni_LiLig)
(A) s U + Qeuliuh (B) s + GleuLib
(C) sy + Qeutiuh (D) siuth + GeuLiLih
LOE®OGEV + 6TeVNLD eTeTLIGmend CFiggl 6T1(psd Hen_d@Ld ClFmed
(A) LoemeveTeuTLD . (B) wenewGwevrid
(C) wemebwevevrid (D) wemevetevevirLh
‘GEM er6TLISGT ClLITpeT
(A) plevey (B) @owinenev
(©) yemewrs 54571b (D) swmenewt

ams@up 1 : feoliu@sngn s @QesGumselayh L6 umrmer
OleusssTLimLOTEnGeV 6TeNaYILD Q)evdsanT Hredled apICHTeT GplSss

FapLILIL (HETETS).
aurs@wid Il : amspesed GPS8$ Fmitb Frev LIMLITL 6b.
(A) 1wl @w Fi (B) II @b &M
(©) I wpmyd 1T &A (D) I wpmd 11 Seumy

QYIS Uil ou® i@ Mulcve CsMyg — @$0$T_Meb 2_drer e psmans 5msS)
TR it

(A) @mis auipg ey wrPMulecvev ClsMuygy. ﬁ%

(B) @his au@@pauri yeueng waBMuiever ClsNBmg. -

(C) miBs aumpSBpeui euengliGumed yeveveur GlsMF .

(D) 9mGs auimag dyaumpLon@iuilevev CsMB .

B1psHTaIDd ClFTevLeS6T B)eVsEISGPILIHLS Fnmis.

‘Cppy GClmmy’

(A) Qsmhnewi (B) 2p&@S0smit

©) @uilem_sFearal (D) er6ued g@pevLo aflenastLpdms
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Observe the graph and answer the questions given below (101 —102).
IS saalsgl, Gy CsTRSsLLL B6rer CaeralsendEL (101 -102)
uSevalldsaLb. Eﬂi?‘

ABC Company % growth rate in exports i

ABC fipiauarsSer eipmio@uied % cueriss) aflssLb

—_ — [\ r2 (P
< wn [=] wn <
I 1 1 I 1
T T

o L
1

-2.5

growth rate (euari® @9%)sLb)

1
wn
1
L]

2001 2002 2003 2004 2005 2006
to to to to to to
2002 2003 2004 2005 2006 2007

year (Gu(BL_LD)
101. During how many years was the growth rate above the average growth rate over the given
years ?
(A) one (B) two (C) three (D) four

Qar@ssIuL L yaThselcd sgrel aerisd alfssms ailL cdgemer
TSl auerids) alFFLd G HLONS Qwr3S ?
(A) epettmy (B) @ (©) epsitpi (D) preng

102. During how many years was the growth rate below the average growth rate over the given

years ? )
(A) one (B) two Eé@
(C) three (D) four

Qsr@ssLiuL L y@Thealar sgnah cueriss alEssms alll cidgamar 2, T (IS aieh
uaTiEs) aNGsLD GPaTs Q)BHSS

(A) ety (B) @ua®

(©) epsinmy (D) preirg




103. 2% of2="7

2% @etr2="?

104. Find the correct answer.

Carpenter : Wood : : Tailor : ?
(A) Furniture

(B) 0.4
(D) 0.004

(B) 0.4
(D) 0.004

B

(B) Dress
(D) Sewing

gflwnar uSeoew Csin0lsBSSa Lb.

SEFIT . LOISSL L . SWEOSTTIT: 7

(A) g&Fmomest

105. Find x.

(B) 22w
(D) ewgwed

1 Sy
T rd

X-GST LOBILIL] SHITGoTS.

B

(C) 180°

(C) 180°




*
f ' .

106. Find the number of squares given in the figure. %

237

(A) 12 (B) 9 (cj 10 (D) 11

QasTRSSLILL_ BHeTeT UL SH60 TSSO FSITBIHET 2 GITeNeT ?

(A) 12 (B) 9 (©) 10 (D) 11

107. Arrange the words into meaningful sequence.
1) Vegetable 2) Market 3) Cutting
4) Cooking 5) Food

(A) 1,2,3,4,5 (B) 2,1,3,4,5 © 3,1,2,54 (D) 521,34

umigenssaer Iyidsperer aflarsulled 9()S5aLb.

1) smi 2) shaws 3) BDISGS6D
4) FewLowicH 5) 2 ewray

A) 1,2,3,4,8 (B) 2;1,3,4,5 (C) 31,264 (D)32,1,34 '

108. 5 girls A, R, D, S and V are sitting around a Pentagonal table. A is between RandD.Sisto

the left of V. R is to the left of S. Who is to the right of A ? ‘@ﬁ !
(A) S (B) D i
©) R (D) V

A,R,D,S iopmub V g@w 5 Quaiwsar gmiGament Goemsamws sppl SjLoipgicrerari.
R wppih D &g @eCu A oérarmi. S aeiueui V & @LgILpLD 2 eTeTi.
R erahieurt S &@ @)L giypb o areni. A @6 aievg) LISSSH @) EBLILIaT Wi ?
(A) S (B) D

©) R (D) V




109. In a row of children, Bali is seventh from the left and Moti is fourth from the right. When n
Bali and Moti exchange positions, Bali will be fifteenth from the left. What will be Moti’s

position from right ? E&%
(A) Eighth -
(B) Fourth

(C) Eleventh

(D) Twelfth

Gppassaiier auflensuileh, Lmed @)LgiI LipsSed @) s epraid) QLSS eiLb, LoHmiLd
Guwrsd uewgiLpdHed QBB BrersTeug QL SHeib 2 crereri. Limed oI
Cung® Blevavsemer wappib Cungl, LTS QL &ILPSHd RQBHES LS SHS TS
QL8 @uLiumi. uwgLDSH QBB Cors@uler fleve ercirer ?

(A) eri_rL_meugy

(B) mrewisneus)

(C) u@Cenasipmeug

(D) wehresflpessr_meugy

110. Which one of the following diagram best depicts the relationship among Elephants, Wolves

and Animals ?
[E%E
2
2D O

YeTeu@id euepliuL mseled 618 WIS, @BTISHr wHHILD aflevE G eer
YQPweupPler 2 peneu pLiLins FFsNES DS 2

) (B) @D
@:) D) @ O

(A)

©

6®
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Study the following Pie graph carefully and answer 2 questions given below (111 - 112) .

Lerau@pd L ueILL S Suaions LIgsgl, $G Csr@és L Herer
Caaralls@pd@ (111 - 112) uSevallésaLb.

Cost estimated by a family in renovation of their house. Total cost estimated is Rs. 1,20,000.
(B GBLbLILD SESEHEL_ 6L enL_L1L g n Nsx@iLd Glssvay em. 1,20,000 ereor LoBln i " Hieitonst.

Miscellaneous

EEE
8% Axchitect fee E‘%ﬂ
0
: 11%
Flooting
0
kv Painting
15%
Electricals
10%
Furniture
13%
Plumbing
10% !
Ly Interior
decoration
19%

111. What is the cost estimated by the family on painting and flooring together ?

(A) Rs. 36,500 (B) Rs. 34,800

(C) Rs. 36,000 (D) Rs. 34,500

Quuliesig i wHmib serGaume gaprs Gsids &@LU LB ClFmay
GTGhTGUT 2

(A) em. 36,500 (B) em. 34,800

() ¢5. 36,000 D) ¢5. 34,500

112. What is the difference in the amount estimated by the family on Interior Decoration

and Architect fees ?
(A) Rs. 10,000 (B) Rs. 9,500
(C) Rs. 7,200 (D) Rs. 9,600

2 GTgIeD YESTILD WPPILD S 19L& SaEhT SLLaSHM GBLbUSHaTTTE
WS _Lul L Csrevsuiley ereites algSwnsd 2 Eﬁ-{?

(A) ep. 10,000 (B) em. 9,500 Bl

(©) em. 7,200 (D) em. 9,600




-

113.

114,

115.

116.

117.
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How many times in 12 hours the hands of a clock will be at right angles ?
(A) 12 (B) 16 (©) 18 (D) 24

R SYFTISH6T s 12 wewd] Crus@ev eigseamast (wevp CriGsmeg® e FH@Lb 2
(A) 12 ®) 16 ©) 18 (D) 24

3 1 1 :
Saravanan’s father bought 2Zm’ 25 m, lzm of cloth. Find the total length of the cloth

bought by him.
1 EEE

@) sly B 5=m (0) 6-m &
4 2 2

FIUGHTEIL_ILI S0 UTEGI Fienfluler gjemeyser 2 = 3 15, 2 1 18 Lopmd 1~ 1 5 6T6uf)eY
Qjouit eumSw gewflufer Clongs Hertb 4 4

1 1 1 1
A) 5= B) 5— O g2 D) 4=
()5415 ()SZLE ()62L5 ()4415

Varun travelled 7 kms eastward, then turned left and travelled 5 kms. Next he turned left and
travelled 7 kms. How far was he from the starting point ?

(A) 19 kms (B) 12 kms (C) 7 kms (D) 5 kms

et Sps Crrss 7 &..5. vwesfldsni. e @QLGypd Sl 5 &).L5.
vwenliggm. B8 eur @QLgiLpd BwibL 7 &)..8. LwesHsmi. jeurt LIbLISS
@)L 38955 e16iaueney b CFremevaled 2 erermi ?

(A) 19 &..8. (B) 12 &)..5. (C) 7 ®..8. (D) 5 @..8.

=
Which one is equal to (9ab)? ? i
(A) 9%a’b? (B) 18a%? (C) 3%a*? (D) 3%a*®?
(9a%b)? &@ FLoLomet eTevs
(A) 9%a%b? (B) 18a%? (C) 3%a'? (D) 3%a*h?

If A x B means A is the brother of B and A + B means A is the father of B then which one
means that ‘M’ is the nephew of ‘N’ ?

(A)N+MxK (B) NxK+M (©) MxK+N (D) KxM+N
A x B eraiipmev A ereiricuit B udlesr #Gsng o wopmih A + B ereiipaed A ereitLicui B udleir

sheng Liguinermed ‘M’ ererieui ‘N’ i1 FOHIST6H LOSET GTGTLIGI 615 ?
(A)N+MxK (B) NxK+M (CO) MxK+N (D) KxM+N
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118. Which of the following diagram indicates the best relation between leaf, seed and root ?

(A)@ O (B)@ S

© Q O (D) |
5 i

esreuptd auengLL_misefled 618 @ee, allang pHmitd Gaur Y EWIDDISSE
@ae_Cuuwnes Apps CBTL_ienus GPSE DS ?

(4) @ O (B) @@
DI (D)
X @

119. Find the side of the equilateral triangle of perimeter 129 cm.

(A) 42 cm (B) 43 cm
(C) 53cm (D) 63 cm

R FoLES (WPECETewSHer sPparay 129 OF.15 erafleh, IYFet1 LSS IeTenald :
BTG5S, i :
(A) 42 cm (B) 43 cm =47 |
(C) 53cm (D) 63 cm :

120. A family consisted of a man, his wife, his three sons, their wives and three children in each
son’s family. How many members are there in their family ?
(A) 12 (B) 13
© 15 (D) 17

R0 GOLOLSHD @ 26T, YUTG/ LoeaTald, TS| PG LDEHGHTSEHT, jeuTsaileT
Loan TN G wHpIh @10 &6 &BLbUSBILD CLOGTM GLOHMSHET 2 GTaTesIT.
@BLbLISHGV 6TEFemae 2 LIS 6T 2 ereresi ?

(A) 12 (B) 13

© 15 (D) 17




i

The following bar diagram shows the number of students who applied for, appeared at and passed

-32-

in a certain exam (in thousands) for a given period. Study the bar diagram carefully and answer

the 3 questions that follows (121 — 123).

Gppsa euemguL b, @B GHUI L sTes L $Bd, e GPILL GCsiads
aflevsrent i $s LonewTauise eiehmenfidans, erpBlwait opmid CaisR QDD LoTeRTaITSET

aresTenilEesamw (ulTsSed) S1 QP DGI. SGTLONG uILILIL S LIy Sg) LI6TaU5LD

3 aflermailn@ (121 — 123) alev_ SgayLb. EEE
s
250 + ;g'_ i 94 | 95 | 96 | 97 | 98
s g geut| 202 | 204 | 210 | 208 | 212
| 200 + 7 - -
; a %ﬁ:} i 198 | 200 | 202 [ 202 | 206
150 + g;fﬁﬂu@gm 120 | 115 { 120 | 122 | 126

121.

122.

100 T
{77 Applied (aSissrenrnissant)

[] Appeared (srup@usaut)
g Passed (Qsi48 Qupmars)

50 +

IS S S S S S S S S SN

S S S S SIS S S NN

R,

1994 1995 1996 1997 1998

What is the approximate average percentage of failed students ?

(A) 47 (B) 59 %%%

(C) 41 (D) 35

Gsii¢& Qupns mewreuisefer Csmgmuiones Fynsf sSNBSLD eTehian ?
(A) 47 (B) 59

(C) 41 (D) 35

In which of the following years the number of students who did not appear at the exam is
the highest ?

(A) 94 (B) 95 (C) 96 D) 97

BipangyiLd aumL_migeafe, CsiadE augns Loressalisele earenlidans PSLIL FLons

QBEGLD Y@T(H) 615 ?
(A) 94 (B) 95 (C) 96 (D) 97

r=s
1
L
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123.

124.

125.
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Which of the following years shows the best performance of the passed students ?
(A) 94 (B) 95 (C) 96 (D) 98

Bpsngib e1ps HYFTHEND, Cs158 Clupp reseuiseller Hpps sevalemi
Qeueliun® sreriL@@ S 2

(A) 94 (B) 95 (C) 96 (D) 98 i

Harish is taller than Charu, but shorter than Raju. Charu and Dhilip are of same height but
taller than Ashok, then which of the following option describes Dhilip ?

(A) Harish and Dhilip are of same height

(B) Dhilip is shorter than Harish

(C) Dhilip is shorter than Charu

(D) Dhilip is taller than Raju

Fgneme afl apfey o wrTETMET QeTTed JTggdeamey @il (&6TaTLDNGTEIGHT.
Fnmayb el Fwiomes 2 wsHed @)BEEprisen, Yened HCFrEMs @il
2 wLnesTautseT etasflev, BeSL1 GPISS Fmpmisaiicy BLpdseim_upmlev 615 Flwnerg ?
(A) apfafib SeSLLb FLo 2 WFLPEHL_WaITEET

(B) 861, apfayemw afl_ @GsTeTorarealcsr

(C) 8611, smmenay I (&6TOTLOTGTAIGHT

(D) ®6Su1 prgg9emeu @Il 2 wigLOTETaIGT

A shopkeeper bought a chair for ¥ 325 and sold it for ¥ 350. Find the profit percentage.

6 9 L
A) 7—% B) 9—% 238
()7130 (B) 130 %%gg
© 62% ®) 72%

13 13

R SL_dasTyT @@ prpsTedlenw X 325 eratrp allenevd @ ek X 350 &@ allpuener
QeiBprit erafled QevTu F5aIssamss Snens.

(A) 7—% (B) 9—~%
13 13

© 629 ®) 7>%
13 13




126.

127.

128.

129.
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Select the one which is different from other three responses ?

3,4,5,9 ,
(A) 3 (B) 4 %ggﬁ
©)5 ey o | (1™

pp epety LFevsafledlBBg Caupiul L gateanpd CaipolsHlEsa Lb.
3:4.5.9

(A) 3 (B) 4

©)5 D) 9

Statement I : 108 is a perfect square number.

Statement IT : A cube has 6 faces.

(A) I only correct (B) II only correct

(C) I and II correct (D) Iand II wrong
aurg@unb I : 108 g evg @b LpLp Iids CTeRTeRTTELD.
aurg&Gwih Il : @5 $ed55175BP @& 6 (LpSHISET 2 GTaTe.

(A) I ol @b &M (B) 11 o” @b &M

(©) I opgyid 11 &M D) 1 wppib 11 saugy

Among A, B, C, D and E each having different amount of money. C has more money than
only E, B and A. Who among them has the highest amount of money ?

A)C (B) D ©E (D) B

A, B, C, D wppib E eretip gpbg puisesd GleueCGaigy Blenevuiled Liewrid
aus @ hasHpriser. C ereruieui E, B wppih A eweu ol 88 Lewid oausH Hs
SIS GIGTDIG), @)F6b Wt peut gBg HLIiSeN JB% LD eeuSB HLILITT
GTGTLIGNS HT(HLAGSFH alenl_ F(5s.

A) C (B) D (C) E (D) B

Ramesh goes towards North, turns right, then turns right again and then goes to the left.
Which direction is Ramesh facing now ? E}g

(A) East (B) West (BF

(C) South (D) North

oGaey ererLeui auL %@ Crné® Amla o Lwenflgg, 96T ewewgl Lptb B HLbLe
Sz o Lwestigg), 96T LBeT(RILD uevgyLpLb B Lol FPsI S LweshSg), et
Q@& ypib Fbld LweflE&pmi. @UCUTpS Jaui eSS Bevgaw CrrsEIL
UwesHES i 9

(A) Dse (B) Bupe

©) Cspe . (D) e s
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130. If the sum of two numbers is 14 and their difference is 10. Find the product of the two
numbers.

(A) 40 (B) 48 ©) 24 (D) None of these

Q@ arevwsefeir o G 14 wpmitb et algGwnab 10 e1afled, HBS @) eTavsrsafa
COuBEES Csnansamws Sneas.

(A) 40 (B) 48 (C) 24 (D) e1gayflevena

Study the following table carefully and answer the 3 questions given below (131 — 133).
Car@s$sLIL’ Heer L L auemenTeniL F6ii@ LSS5I B Spsam 3 alaTrésapsE

(131 - 133) aflen_welésayLb. z@sg;@
Blendt
College
Y ) Degree A B C D E
UL b
i 280 | 160 | 220 | 180 | 200
6T,
B.Sc.
19700, 5. 140 150 120 100 140
B.Tech.
19.01 4 160 180 210 240 180
ity 230/ |1/ |190| | 1 ||250/|| 210 [ 200
05”[.01
B.C.A.
19.8.67. 160 250 130 220 210
131. What is the total number of students studying B.A. and B.Sc. in colleges C, D and E
together ? Qgg]
(A) 1230 (B) 960 B
(C) 1010 (D) 970

C,D wopmib E sevgppfsafieh B.A. opmyih B.Sc. Ll L_Liing &@Lb Oords Lomessaisefesr
Tl ems GTSSmaT ?

(A) 1230 B) 960

(C) 1010 (D) 970
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132. What is the ratio of the number of students studying B.Com. in the colleges A, B and C

133.

134.

together, to the number of students studying B.C.A. in colleges C, D and E together ?
EEE
(A) 67:56 (B) 60:36 g%

(C) 68 : 36 (D) 60: 56

A, B wopmib C sevgyrisafich B.Com. (L9.8Lb.) LiLg d@Lb Lomewstauise i eTetsmenfisensd@Lb
C,D wpmytb E sevaprfsefieh B.C.A. (L9.8).61.) LIy S@Lb Lomewiauisefle c1avmantlsensd@Lb
2 _gitor ANFGLD 6TGHGT ?

(A) 67:56 (B) 60:36

(C) 68 : 36 (D) 60 : 56

What is the total number of students studying all the given degrees in college D ?
(A) 850 (B) 730
(C) 950 (D) 930

D sogriuleds Qsr@ssILL BT YaTdgl UL L LG ULS@eTuh Lig&ELD
Qomss rewTauisaic claisTaniisans eIeer ?
(A) 850 (B) 730
(C) 950 (D) 930

Find the missing term in the following series.
1,6, 15,7, 45, 66,91

(A) 25 (B) 26
(C) 27 (D) 28

&Cy Qer@saLiu’ Gerer aMasuied aGLILL L eaTaent sai (LN d5a)Lb.

1,6, 15,7, 45, 66,91 B
(A) 25 (B) 26
(C) 27 (D) 28




i

135.

136.

137.

138.

T

If “Lilly’is called ‘Lotus’, ‘Lotus’is called ‘Rose’, ‘Rose’is called ‘Sunflower’ and ‘Sunflower’
is called ‘Jasmine’ then which will be the National flower of India ? G
E4s

(A) Lilly (B) Lotus EF

(C) Rose (D) Sunflower

‘eflevas) Loeit ‘Smeny eTetayib ‘smoeny’ ‘Guagm erewayb, ‘Gorgn ‘GAwEsTHS)
eTaT@yLb, ‘ GAWSTBES), oevallens’ eTaajb JjeipssLiLil L_me, @)pGunaile Cs&w
LOGUIT GTGHTGH 9

(A) &levad) (B) smwaeny

(C) Ggrggm (D) @wsnps

If ‘BOOK is coded as 43, what will be the code number for ‘PEN’ ?

(A) 53 (B) 33

© 35 (D) 43

@05 GO B Qomuied ‘BOOK’ eratiigl 43 s @GPl L@ . G Clompluded,
‘PEN’ 616l i0unpis @Gmluil i@ ? ESE

(A) 53 (B) 33 S%&g

(€) 35 (D) 43

Find the value of n, if 1 +2 + 3 + ...+ n = 666.

(A) 66 (B) 34
©) 36 (D) 38
14+2+3+...+n=666 crafled, n-ulflesr LLHLIL) ST
(A) 66 (B) 34
(C) 36 (D) 38

Choose the missing letter out of the given alternatives.

G H M2V
(A) T (®B) s
©R D) Q

Qar@ésriu L ippseld eIGUL L e(psmss Csib0lsBESaLb.
G HIJIM?2V

AT (B) S

(C)R D) Q
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139. Which will come in the place of question mark (?) ? Find out from the options given :
DG]J, FIL, HKN, JMP, ? g&%
@.
(A) LON (B) LOQ (C) LOM (D) LOR
80y Car@ssLiul erar aflesefledmigl, CsdraléGpuil . @SB awpLb
QurmssLoner alleLew GCsip6lsH &S LD.
DGJ, FIL, HKN, JMP, ?
(A) LON (B) LOQ (C) LOM (D) LOR

140. Match the following :
I) 100 Thousands a) 1 Billion
II) 1000 Thousands  b) 10 Million

I1I) 1 Crore c) 1Lakh

IV) 100 Crores d) 1 Million
I II o1 1v

Al ||d b |a

B)b a ¢ d

Ce a b |4 E%%

yd b a c

QTS5 :

I) 100 g uflgid a) 1 19evedlwetr
IT) 1000 g,uflgib b) 10 HeveSlwesr
I0) 1 Gsmyg c) 1 @ev &b
IV) 100 Gsmg d) 1 hevaSlwesr

I I m Iv
(A)c d b a
(B)b a ¢ d
e | a) b d

MD)d b a c
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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JOINT RECRUITMENT - 2023

OPEN

WRITTEN EXAMINATION — FINAL ANSWER KEY

QUESTION BOOKLET SERIES

Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
1 D D C C
2 A B B C
3 A A D A
4 A A C B
5 B A C A
6 C B D C
7 C A C D
8 A C B C
9 D C B A
10 B A A C
11 C B A B
12 C A C B
13 A C A/B B
14 A C D C
15 D B B C
16 B C D B
17 B A C C
18 B A C A
19 A B D A

20 C B C B




D-SERIES

C-SERIES

B-SERIES

A/B

A-SERIES

A/B

Q.No.
21

22
23
24
25
26
27
28
29
30
31

32
33

34

35
36
37
38
39
40
41

42

43
44
45




D-SERIES

A/B

C-SERIES

B-SERIES

A-SERIES

Q.No.
46
47

48

49

50
o1

52

53
54

55
o6

S7
58
59
60
61

62

63

64
65
66
67
68
69
70
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Q.No.| A-SERIES | B-SERIES | C-SERIES | D-SERIES
96 B A C D
97 C A D B
08 A G A A
99 C D C A
100 C A A C
101 C B C C
102 C D B €
103 A A/B/C/D C D
104 C C D B
105 B D A B
106 © C B/D C/D
107 B B B C
108 C C/D B A/B/C/D
109 D B A B
110 A D C D
111 B B C D
112 D A B C
113 | A/B/C/D C C/D B
114 C D B D
115 D C D B
116 C C e A
117 B C C C
118 C/D D D D
119 B D B C
120 D A D B/D
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